Directions: Read each word problem. Click on the correct operation needed
to solve the problem. Type your answer in the box.

1. Stephanie weighs 61 pounds.
Charles weighs 39 pounds. How Add Subtract Multiply Divide
much heavier is Stephanie than Answer:

Charles?

2.Jesse has 73 tickets. He loses 52.

How many tickets will Jesse have? Add  Seblma  Multiply: Divide

Answer:

3.Andre has 89 tickets. 42 are eaten

by a hippopotamus. How many Add Subtract Multiply Divide

tickets will Jesse have? Answer:

4.1f there are 6 marbles in a box
and Jessica puts 18 more marbles Add  Sublract  Multiply  Divide
inside, how many marbles are in Answer:

the box?

5.There are 63 Skittles in a box.
Stephanie takes 47 Skittles. How

many are left? Answer:

Add Subtract Multiply Divide

6.If there are 8 erasers in a box and
Ronald puts 14 more erasers Add Subtract Multiply Divide
inside, how many erasers are in Answer:

the box?




